/
Economics 101 Name /'{Mfa /A/ ED ,KEY
Spling 016 TA Name
March [, 2016 Discussion Section Number
First Midterm Student ID Number

Version 1
READ THESE INSTRUCTIONS CAREFULLY.
DO NOT BEGIN WORKING UNTIL THE PROCTOR TELLS YOU TO DO SO

You have 75 minutes to complete this exam. The exam consists of 9 binary response questions worth 2 points each and
20 multiple choice questions worth 4 points each for a total of 98 points. You will receive two points if you accurately
and completely provide your name, ID number, discussion section number, version number, and TA name on the scantron
sheet AND this exam booklet. Thus, the total number of points on the exam is 100. Answer all questions on the scantron
sheet with a #2 pencil. There are 18 printed pages in this exam, including this cover sheet.

WARNING: NO COMMUNICATION OR CALCULATING DEVICES, OR FORMULA SHEETS ARE
ALLOWED. NO CONSULTATION AND CONVERSATION WITH OTHERS ARE ALLOWED WHILE YOU
ARE TAKING EXAM OR IN THE EXAM ROOM. PLAGIARISM IS A SERIQUS ACADEMIC
MISCONDUCT AND PUNISHABLE TO THE FULLEST EXTENT.

PICK ONLY ONE BEST ANSWER FOR EACH QUESTION.

How to fill in the scantron sheet and other information:

1. Print your last name. first name, and middle initial in the spaces marked "Last Name," "First Name," and "ML" Fill in the
corresponding bubbles below.

2. Print your student ID number in the space marked "Identification Number." Fill in the bubbles.

3. Write the number of the discussion section you’ve been attending under "Special Codes" spaces ABC, and fill in the bubbles.
You can find the discussion numbers below on this page.

4. Write the version number of your exam booklet under "Special Codes" space D, and fill in the bubble. The version number is
on the top of this page.

» If you believe there is an error on the exam or you do not understand something, make a note on your exam
booklet and the issne will be addressed AFTER the examination is complete. No questions regarding the
exam can be addressed while the exam is being administered.

» When you are finished, please get up quietly and bring your scantron sheet and this exam booklet to the
place indicated by the proctors.

Discussion Sections (Sorted by TA):

Section Number Time Room TA

DIS 301 R 4:35-5:25PM 5321 Sewell Social Sciences Omar
DIS 307 F 9:55-10:45AM B219 Van Vleck Hall Omar
DIS 305 F 11:00-11:50AM B219 Van Vleck Hall Omar
DIS 302 F 2:25-3:15PM 4308 Sewell Social Sciences Omar
DIS 311 F 8:50-9:40AM 120 Ingraham Hall Wengi
DIS 308 F 9:55-10:45AM B341 Van Vleck Hall Wengi
DIS 309 F 11:00-11:50AM B341 Van Vleck Hall Wengi
DIS 310 F 12:05-12:35PM 2323 Sterling Hall Diwakar
DIS 304 F 2:25-3.15PM 6314 Sewell Social Sciences Diwakar
DIS 306 F 3:30-4:20PM 4322 Sewell Social Sciences Diwakar
DIS 313 R 3:30-4:20PM 6322 Sewell Social Sciences Moheeb
DIS 303 R 4:35-5:25PM 6322 Sewell Social Sciences Moheeb




(This page is intentionally left blank as an extra work sheet.)
DO NOT DETACH THIS SHEET FROM THIS EXAM BOOKLET!



I, , agree to neither give nor receive any help on this exam from

others. I understand that the use of a calculator or communication device on this exam is academic
misconduct. I also understand that providing answers to questions on this exam to other students is
academic misconduct as is taking or receiving answers to questions on this exam from other students.
Thus, I will cover my answers and not expose my answers to other students. It is important to me to be
a person of integrity and that means ALL. ANSWERS on this exam are my answers. Any violation of

these guidelines will result in a penalty of at least receiving a zero on this exam.

Signed

BINARY CHOICE QUESTIONS (9 QUESTIONS WORTH 2 POINTS EACH)

5"),_ fomes |- Suppose that you know the points (X, Y) = (1, 16) and (4, 4) sit on a straight line. Which of the

tollowing coordinates sit above this straight line? & bie
7 /f L (= Vel ¢
ANALY ! a. (X.Y)=(0,19) 94 ) / ) m: é‘;’/xx){———n/ﬂ-‘/
&) X.Y)=(2,13) ,\,.\é‘f"” V> X C y gof X0
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) gFwarrow2- Economics is the study of: = 20-9X| g s5) si¥rhelo
—£ACY the production, allocation and distribution of goods and services. ¥~ 1fX=2 L ;{g-—‘!fa%}
b. the production, and allocation of goods and services in a just world. N
© /50 &3 e Zouom Pe (313 )suPabere
The bne.

Bﬂy 3. The statement “Donald Trump shouldn’t win the 2016 presidential election” is a:

@ Normative statement. L7 leqnh‘%/ 4 W/N/:ﬁtd{fmmf
b. Positive statement.

4. Ashley has a summer internship offer from an accounting firm that pays $2,000, and an offer
ﬂ EFmiTIoNAL from a bank that pays $1,500. Otherwise, she could also spend the summer at the local
community center that offers her a salary of $500. What is Ashley’s opportunity cost of
accepting the offer from the bank?
$2000 She give s tp theaccovn/ay fvem offes
b. $500 :



NOT VQZ)/ 5. Ethan works 10 hours a day and produces two goods, tables (T) and chairs (C). His individual

(HALEN Cmié- PPF curve per day is given by the function:

T=8-2C
Given this information and holding everything else constant, how many hours does it take for
Ethan to make one chair? T .
a. 1.25 hours Q w 10 howrs Ethes
@ 2.5 hours Can make Y chaivs
o < 10 =2.6 how;/ohdff'
& £
54,‘ / 6. The following graph depicts the demand and supply for cheese in the U.S. market.
P A

CS M IITH//)/

Suppiy

™ 5/ /J/M/:rlk mrkjdnfhjrcéaﬁh
[)5 = Cheeae , -4—/“)-‘—!‘ S'(f/a/aly fo
&g‘fﬂzﬂk y Demand

r;ghf’ )

“-Q

Imagine that the price of milk (an ingredient in making cheese) has fallen. How does that affect
the consumer surplus and producer surplus in the cheese market?
Consumer surplus must have increased. ¥~

b. Producer surplus must have increased. MM o S'I?( g }4' Af}é"

AUTE 7. T Harry's economics class, his final score is determined by three exams with equal weight. The
miRE first exam has a total of 25 possible points, the second exam has a total of 50 possible points,
(HA d—eWGMK’and the final exam has a total of 100 possible points. Suppose Harry receives a total of 16

points out of a maximum of 25 on his first exam. What is the highest average score percentage
Harry can obtain in the class given this information and holding everything else constant?
a. 64%
(B 88%
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EM - 8. Which of the following would NOT be studied in microeconomics?
a. Analyzing how individuals make decisions /A4% Zr@

EFNsTHNAL - - e

) Explaining why recessions occur ~€<#?

H Leed — 9. Consider the market for tobacco products. Suppose that health studies report that tobacco
smoking is not good for you. At the same time that people's incomes fall. Assume that tobacco
coneep W products are inferior goods. Given this information, relative to the initial equilibrium price and
ChALEY 6""V&quamity, the emrium price will __ and the equilibrium quantity will

P A > S

(@) be indeterminate; be indeterminate

b. be indeterminate; decrease f|
M Dy ,oco//cﬁ éomes |}
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oyfiane £ 274 cod i, st
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MULTIPLE CHOICE QI%STIONS (20 QUESTIONS WORTH 4 POINTS EACH) don ¥ : oty
A“'WA/J‘! ?‘?/'ed%L
75
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545‘)( ~ 10. Suppose that the crude oil market is initially in equilibrium. Then suppose that there has been a
technological breakthrough in shale drilling that allows oil producers to drill for oil faster and
1541¢ more cheaply. What would we expect to happen to the equilibrium price and quantity in the
S7YD market for crude oil given this information and holding everything else constant?

a. Equilibrium price decreases and equilibrium quantity decreases¢
Equilibrium price decreases and equilibrium quantity increases

¢. Equilibrium price increasesfand equilibrium quantity decreases

d. Equilibrium price increases‘dnd equilibrium quantity increases




A 7ouck SErIES!

Use the following information to answer the next Three (3) questions.

Assume that Jacki and Donna are the only consumers of online movies. Jacki and Donna are
addicted to watching movies online. They have very different tastes so they can never watch a
movie together! They both respect movie copyrights and therefore they pay for every movie they
watch online. The demand functions of Jacki and Donna for movies this year are given by the
following equations where P is the price per movie and q is the quantity of movies demanded:
Jacki: P =40-2q
Donna: P = 20

EAJ}"' = 11. Given this information, the markepdemand 1s:
a. P=40-2q forP>20 dP=20-2q forP = 20

A AR
o syti 26 1T, (5) P =40-2q forP>20"%nd P = 20 for P <20 x/;cﬁwmxf
b c. P=40-2q forP>20 ghd P =60 —2q*or P < 20 4ae
HAED 154 p_40—2q forP > 20 and P = 40 — gfor P < 20 /%]
f=20 STUMAS 1
yon: iy
Suppose that they are only two websites, Addiction].com and Addiction2.com that offer online

movie services to Jacki and Donna. The supply curves for these two websites are given by the
following equations where P is the price per movie and q is the quantity of movies supplied:

Addictionl.com: P = 4 + 2¢q
Addiction2.com: P = 2q

H AP 5 12. Given this information and holding everything else constant, when the online movie market is
in equilibrium Jacki will watch ___{© movies this year, while Donna will watch

gﬁ!{,ﬂ/én/g.___gt movies this year.

108
b. 9:9

c. 10;10
d. 8 10

)V 4 T THAT 13. When this market is in equilibrium the total consumer surplus in this market 1s

DiFfreae o $ " )a(nd the total producer surplus is
[F you -~ ex f
$1007$164 Sus«m/" nextpage !
;Z:?;i C? $20§<‘ $200 onwalD F anea @)+ M?) F anea @)+ ara(5)
7 d. $200; $164
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Source: US. Bureau of Economic Analysis, Real Gross Domestic Product
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14. From the graph above, what was the approximate average quarterly growth rate in U.S. real

GDP in 2010 and 20127 M.M
Sﬁ"‘“
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15. The market for bus rides in Madison is in equilibrium with the demand and market supply
curves as given where Q is the quantity of bus rides and P is the price per bus ride:

Demand for bus rides: Q =20 - P
Supply of bus rides: P = Q

Now suppose that the City of Madison institutes a quantity or quota limit that will only allow 5
bus rides to be taken in this market. Given this information and holding everything else

constant, which of the following statements is TRUE?

_The total surplus-to society will increase due to the implementation of this quota hrmtx
The cap on the number of bus rides will create deadweight loss in the market for bus

rides. v TRVE

c. The cap on the number of bus rldeq will decrease deadweight loss in the market for bus

rides. [FALSE = owe '

d. The cap on the number of bus rides will not chan ge the deadweight loss in the market

Qe 5 for bus rides. [~ALSE = C’Zﬁk‘rb 4 Yheo'r 4 DWL

20 -P =P ir /
’w Yy b, pW /fcre.qlcf
/C :fd 8



Use the following information to answer the next TWQO (2) questions.

Consider the market for cigarettes in Palestine where quantity, Q, is measured in packs of
cigarettes and price, p, is measured in shekels (the Israeli currency unit that Palestinians use) per
pack of cigarettes. The demand and supply functions are given by: Qoo-4p = & P &e = L(20)

Demand for Cigarettes: Q = 200 — 4p 16¢ /‘:’f’ He =120
Supply of Cigarettes: Q = 6p 2 T
FIZ@ICWLEJ]G Suppose that the government is interested in decreasing the consumption of cigarettes by 60
No TVE packs. The government intends to implement an excise tax in order to achieve this consumption
HARD goal. What is the excise tax per pack of cigarettes that the government should impose?
a. 10 shekels per pack. @ = =60
b. 15 shekels per pack fl'-‘ - GP f 60 =200 7/0
¢. 20 shekels per pack ’2_0 =>D: 4 f ° = |40
25 shekels per pack Sz jo = 35
F Crgise L ackru.ed'r 2 =% e@r =6 /0
)h\ ,[0, w 5 [{//JaCIC =~ IO
H D 17. Suppose now that the government cares more about generating tax revenue from the cigarette

market than it cares about reducing smoking. If the Palestinian government would like to
collect the maximum level of tax revenue by imposing an excise tax in this market, what is the
amount of the excise tax per pack of cigarettes that the government should impose?

a. 50 shekels per pack X wfl fay 5 35 _sluk&&//aac
25 shekels per pack ? Sy rev = 25W0) = /820
40 shekels per pack X achk “>Fa e =0
50 Shekety
d. 35 shekels per pack X by “

o /.,9,,,,7 TL Sheleels [pct . ™

E{J }/ /= 18. In the market for Ugli fruits, the demand and supply curves are given by the following
ym‘ DIcAw equations where P is price per Ugli fruit and Q is the quantity of Ugli fruits:

THE Demand Curve for Ugli fruit: P=10-2Q
& PH Supply Curve for Ugli fruit: P=2
Given the above information and holding everything else constant, what is the value of
pregosmplus in this market? 7y ﬂ(v,f fﬂ\,:/)
b. $4 'g/ﬂ:;/(
' X ?_s‘ 7
c. $8
d. $9 /80
f 4 08
A s 3 0</S00
I L
— V ==
a3
—— S
> (3
5 & (56- 'LQeT)~"4:’e 35 )
/ o 2(9 = 3512
:1(9@-—3@e ,&cr | 5(12)
” pL Qe” - x(fl) =3¢
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19. The following graph shows a joint PPF for Neville and Hermione who both produce potions

Some and magic herbs. What is the acceptable trading range of prices for potions between these two
DIFFreut 7Y individuals? 0C | Mo 5§ frtm 0] Potirn o 3 feks
é/VEA/ #’k/ Potions = 4/

l
DUEIT 10N Wl v 3
15 [FAMED

o
I | Mo 5 fobrins20.C. 7] /47w & E b

50

b

-3
gt e / fototn

for A PP
ETF 7 e £ 5 = !

0 @ Magic Herbs ‘%f%éf ?Aé oo I
a. Between 1/3 herb and 5/3 herbs 1
Between 3/5 herb and 3 herbs Lf—”"’%
c. Between 1/3 herb and 3 herbs
d. Between 30 and 60 herbs

Use the following information to answer the next TWO (2) questions.

The market demand and supply in the market of cheese is given by the following equations where
P is the price per pound of cheese and q is the quantity of cheese measured in pounds:

/'y
Demand for Cheese: P = 60 — 2q Jo
zS
Supply of Cheese: P = g A
¥y = T
meptuam1 20 Holding everything else constant, if the government decides to set a price floor of $30 in the
D IFF/‘“LD/' cheese market, the consumer surplus will decrease by approximately:
SLvErRh L a. 50% Pl’c"' CSwf s 6o -2 92 &S ,»,?7.&//7 = i’{f bo-20)(>°)
B Ph‘u = e = 78
f7?§?"f @45% &":30 floar, ﬁi‘( i¢ =7 2, . __>@D..7
c. 55% fi 0r 207 Ge When P= £y = 30 = =
d 350 <72 Pezdo 30560-239
' 1) P 7 24%2 30
! > /
15 @?'Ue TR
A LTTLE 21, Suppose that the government decides to impose a new price floor, and as a result the excess
MOIRE supply has increased by 20% relative to the excess supply in the market with the original price
C HA LRGN G floor ($30). What is the new price floor? CSwim bai'es floor = 5 (39 qs)
$32 /Jl'/a/ ,m?u/@ 2) ﬂf»; 30 ()}/ = (15)C75) = 228 |
b. $33 s - [ag o0 )¢ M87)
= Q1= 30 D, AmCS= RIS 728 ¢
Exa;f;"”f' i 20 G*-@%= Jo-(5= /5 70°
I d. $35 - (.2)z 3omifs ~ |
0?074 f i A MW% (/r) ) £ = "ﬁ}‘_)(/ﬁp,)
O “
S Lp=49 - g3 75X 5%
wraed z4¢(3) de
o/ _ P 3 Creaot
= Qs -Q'= 1§

P’ : T 3 7#
Q @5 20 F__(Bd*‘éP)z/g P 30?
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22. The former Soviet Union (U.S.S.R.) economy was based on a system of state ownership of all

/ )/ o forms of production with centralized administrative planning determining the types and
UNI)LVZ{W D quantities of goods produced. Centralized planners determined prices in this system. Assume
[HE that the following equations describe the market demand and market supply in the USSR shoe

(/oﬂceaaf market where P is the market price in Rubles per pair of shoes and Q is the quantity of pairs of

THIS )5 shoes:
Market demand for shoes in the USSR: P=100-Q

a4 4: f? ; Market supply of shoes in the USSR: P=Q/3 = & =3F

EQU/

_—-No MATH- Assume that the centralized committee set an effective price ceiling of 20 Rubles for each pair
— — of shoes. This price ceiling resulted in excess demand for shoes at this price.

[T DOES

W 5@ uieE Now suppose that some people in the USSR travel to Yugoslavia and buy 40 pairs of shoes to
TH INK ING bring back and sell in the USSR. Given this information and holding everything else constant,
is the price ceiling still effective and what is the price of a pair of shoes in the USSR?

a. The price ceiling was still f:ffec:tivz:c and the price of a pair of shoes was $15.
b. The price ceiling was no longer effective and the price of a pair of shoes was $20.
c. The price ceiling was still effectiv&and the price of a pair of shoes was $20.
d.) The price ceiling was no longer effective and the price of a pair of shoes was $15.
_A, -ﬁ’,k( é)/f)/aa undcrrﬁhxa(mmu/afycm do NO] Netecd Vo oo ang Om
m

/
art, !

AL Prine C@"-—] = A =)
D A0 =~ (00- A %
6?9::— ¥o
5
. Ao = &3
&J = 40 < ;
S'A—m
éxw A‘MMJ 73'0 /44"1'7 “ 5'/
el L o=
[T
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Jhou/d Lee & A v
W;)mi afJéwtﬂa/a-c'r‘a /:U/ ;J “"/ufﬂ/l b
tyesss Spply prot fe D AR
. Q= 40 dot
New tapply carve § =37+ g xSyl ,
X i o et
. . -85
Combine N/&MM/W;M 'CP 7 ’Z 5//%5—0 =‘>47:J‘Wéf_)
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12 Million

2008 2008 2010 2011

2012 2013 2014 2015
[Phone 3G [Phong 3GS Phone 4 {Phone 4z iPhone & {Phone 5s & 5O iPhone &, IPhone Bs,
& Plus 8z Plis

MEWY' 23. The figure above is the opening weekend iPhone sales in millions of units between the S/ea"rls :
2008 and 2015. According to this figure, the largest percentage increase in opening weekend

;g;‘,z;); iPhone sales (in units) is between the| years
i 1-LM,00 223 21007, L_,———A
gaen (F (@) 2010and 2011 0% G-? 07 (10700t 100
u Are€ b, 2012and 2013 §0% (L2 yiou = (% )roo< ol 15 ?u@'“) T R
Ta c. 2013and 2015 & 4978 2o} qy=(L)in <170 —3
LA/ d. 2009and 2010 ¥ 0% _—-"T" o) = 22 (100) < 10070 j_(wb'?.)
DepvdeNT 7 -

EAN ?/ 24, The market for Ramen noodles, an inferior good, is currently in equilibrium. Suppose that the
Ramen noodles consumers' incomes have increased by 20%. Keeping everything else constant,
what would we expect to happen to the equilibrium price and quantity?

v
@ Equilibrium price dec1‘ease§/and equilibrium quantity decreases i
. Equilibrium price decreases and equilibrium quantity increasesX
c. Equilibrium price increasegtand equilibrium quantity decreases
d. Equilibrium price increase$ and equilibrium quantity increases

Toios I D Denand shils lef? W e lad
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Use the following information to answer the next TWO (2) questions.

Consider the market for tomato in the US. The market demand and supply are given by the following
equations where P is the price per unit of tomatoes and q is the number of units of tomatoes:

1 =10 —
Demand for tomatoes: p 1100 e |
toes: p = — s
Supply of tomatoes: p = —2 + 1004

B{gmd?k&é 25. Suppose the government wants to implement a price guarantee (a subsidy) program. With this
# THEREFO£E program the government promises the farmers will get $6 per unit of tomatoes. Given this
E}‘ng information and holding everything else constant, how much will the subsidy per unit be with
this program?
a. $2 per unit of tomatoes
$4 per unit of tomatoes
$3 per unit of tomatoes
d. $5 per unit of tomatoes

EAL y /F  26. Given the program described in the previous question and holding everything else constant, the
ym, coutd  government expenditure on this subsidy program will be:

Fromeor & G0
rHesosss o)) . 1200

WNET d. $2400

ifp=¢ =A° =2 "L“”"’i

fD,\ S @j FO
é _ WMM!‘“J /1[ @, 900 7%&/)
= fe /ﬂ L3¢ comfmens wil/
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Use the following information to answer the next Two (2) questions.

The table below shows the time needed to produce a shirt or a sweater for each worker, as well as

the total amount of time available for each worker.

Total Number of Amount of Labor Amount of Labor
Hours of Labor Needed to Needed to
Available Produce One Produce One
Shirt Sweater
Adam 10 hours 5 hours 5 hours
Betsy 12 hours 4 hours 3 hours
Carroll 8 hours 4 hours 2 hours
Dave 6 hours 2 hours 3 hours
2 Loslimy pévhq/m!- o.c. !’
A y)/ - 27. Who has the highest opportunity cost for produ;:"in a sweater? Chivt D"Z}wu .
BT S0mE a Adm o ghvh  Ademiohows ST Bl gut Gl
GRONT 4 b. Betsy 3 3
GrerND c. Carroll 2 2
REQUIRED HEE T2 Sweader S e T R L (weatn

. Y
OC ) tsurtdnis [ Shivt q;gmﬁu-f styshvt oc¢ 41 ‘Wiw,x L shivt /

54{7 28. Compared to Adam, who has the comparative advantage in producing sweaters? ‘e "{/; gl
a. Betsy L twho M—-—-/”"““ Sweapers a7 43. hal”
b. Carroll Joner O.C. Than Adam? g 8
Betsy and Carroll = Pets y
d. Betsy, Carroll and Dave = Carroll
fe=5 =D R=23-5 Y,
EASN 29. Atlantis and Mu are two countries that produce b ing goggles (G) and fishing rods Ml
(R). The individual PPF curves for these two cou ven by e =1 /¢
74D lantis: R=12-3 &
Atlantis: R=12-3G
JEDICTARLE i S
Mu: R=10-G -
e i
Which of the following is an efficient compfination of swimming goggles and fishing rods, when
the two countries are producing jointly?
2. G=1FR=1 Clannet produ iﬂ’r 23'6- ’
b. G=12,R=5 X ]
: 22
c. G=10,R=14X
(4) G=5,R=17 5 & R=-36+T
Mnﬁ? Mo (Z / 0-5- ’.30‘_’)!-"#
@ R R E So—
12 1 " END OF EXAM! 1 R=42-3G
: 1 :
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